[ Efficiency vs vertpos |
= 0.05

EE: = = 2 o B = O TR

e
= r
+
.

1072 101 1 10 0?
TP vertr (cn%)

—=— DQM_original_originalvector_1000evt

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

~ 0.05 . . . . .
BowsEdvdo b

o E ; - - -
L S N R AR I
> - . . . . .
] E : : : : !
H.035 -+ R S R4 Iy
ET0C SRS NS TS S
o E : : : : :
7 MRS HURIE SRS SRS, (RS
0.0 oo
T S 1 RS I U N

oo [T

L L L T

1.0

Ratio

e

9935~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
> T R T

0 e e S R R
£ T T
R R R S S A

TSSO S RN S o 1
> . . . . . .

Boog v
§.025F -+ EPRERE s PR PR oF AP PR
e S -
0.02F---+ [EEREPE e Peeees Peeeees % Peeees
o0sp o e
0.0 o
0.008F -+ p- {1t i Tl -
3 r : :
@ r T

1_— ------ 1r-1v—n?¢r > - 0]

085515 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


